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Topic:- PMBE M5C 52

1) A bacterium, which loses fts ability to synthesize one or more organic compounds, is called
[Cuestion ID = 3089)
1. Hetenstroph [Option B = 12350]
I Prototroph [Opticn 1D = 12351)
3. Aumotroph [Opeion 1D = 12352)
4. Autotroph [Option D = 12351

Correct Answer -
& fumotroph [Option 1D = 1335F)

2) Bacterial recombination, mediated by bacteriophages, is called

[Question ID = 3090)

1. Conjugation [Option D = 12154]

I_ Transformation [Option 1D = 12355)
3. Transduction [Option 1D = 12356]

4. Segregation [Option ID = 12357)

Correct Answer =-
# Transduction [Option 1D = 12356]

3) Complementation analysis using bacteriophages was performed by
[Question ID = 3091]
- Jostu Lederberg [(ption 1D = 12358)

- Seymouwr Benzer [Option D - 12359)
- Jacques Monod [Option 1D = 12360]
- Alfred Hershey [Option 1D = 2341)

T

Correct Amswer =-
# Seymour Benzer [Option 1D = [12359)

4) During translation initiath

[Question ID = 3091]

1. &l codon [Option iD= 13343)

I_ First intron [Option 1D = 12343]

3. TATA box [Option 1B = 12364)

4. Shinz-Delgamo sequence [Option 1D = 12345)

Comect Answer -
# Shine-Delgarmno sequence [Option 1D = 127045)

5) The lac operon can be induced by

[Question ID = 3093]
1. X-gal

[Option 1D = 12584
I. MADP

[Opticn ID - 12147]
1. ATP

[Option ID = 12188]
4. PTG

[Option ID = 13165

Correct Answer -
= PTG

[Option ID = 13165

) Trp repressor controls an operon which encodes genes responsible for

[Question ID = 3094]
1. Conversion of tryptophan to phermylalanine [Option iD= 12370
|

1. Degradation of tryptophan [Option 1D = 12172]
4. Biosynthests of tryptophan [Option 10 = 12373) www.FirstRanker.com

Correct Answer -
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. tEMA [Option 1D = 12374)
- sifHA [Ogtion 1D = 12375)
. rEHA [Oiption D = 1237%)
. mANA [Option I = 12177

.hl.-H—-

Correct Answer -
# tRHA [Dption D = 12374)

8) Rust disease of wheat is caused by a
[Question ID = 3096]

1. Wirus [Opeion ID = 12378)

¥, Bacteran [Option i = 12179)

1. Mematode [Option I = 12380]

4. Fungus [Option ID = 13387)

Correct Amswer =-

# Fungus [Option 1D = 12381)

9) Upon pathogen attack, some plants exhibit a reaction known as Hypersensitive Response (HR), which imolves
[Cuestion ID = 3097

1. Eapid multiplication of infected cells [Option ID = 12382]

I_ Dedtfferentiation of the affected tissue [Option 1D = 12T83)

3. Inoreased vasculature in the infected regon [Option 1D = 12384)

4. Rapid localized oofl death [Option 1D = 12385]

Correct Answer --
® Rapid localized cell death [Option ID = 12385]

10} Which harmone is responsible for the “Witch's broom®™ disease?
[Question ID = 3098]

1. Cytokinin [Option 1D = 12384
1. aBa [Option 1D = 12387)

1. Gibberellin [Option iD= 1233E8K]
4. Etfylene [Option ID = 1238%]

Correct Answer -
® Cytokinin [Option 1D = 12388)

11} Precursor for ethylene biosynthesis is
[Question ID = 3099)
1. Tryptophan [Option 1D = 1239
I. mrethiomine [Option ID = 12391)
3. Arginine [Option ID = 123%92]
4. Omithine [Option 1D = 13393)

Correct Answer --
% Methiomine [Option 1D = 12391

12} Which feature of the following is characteristic of a monocot embryo?

[Question ID = 3100]
. Asymmetric division of the embryo [Option iD= 12394]
- Octant stage [Option ID = 123%5)
. Establishment of bilateral asymmetry [Option ID = 1275)
. Lateral differentiation of the SaM [Option ID = 12357)

.hl.-h-—-

Correct Answer ==
& Lateral differemtiation of the Sa [Option 1D = 13397

13} Seeds af which of the following plants are pon-endospenmic?

[Questhon ID = 3101]

1. Custard apple [Option 1D = 123%98)
1. Orchid [Option 1D = 123%9)

3. ‘Wheat [Opticn 1D = 12400)

4. Mango [Option 1D = 12401]

Correct Answer -
W e e e PR

14} Amygdalin, a well-known twkﬂﬂm'ﬂmhcm

[Question ID = 3102)
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Correct Answer z-
& Bitter almond [Option 1D = 12405)

15) Which of the following photoreceptors in plants exists in two photo-interconvertible forms?
[Questien ID = 3103]
1. Cryptochrome [Option iD= 12804)

I. Phytochrome [Option D = 12407]
3. Phototropin [Option 1D = 12 408)

4. B-carotens [Option 1D = 1247%)

Correct Answer -
® Phytochrome [Option 1D = 12407)

16) Which of the following enzymes plays a role in light-induced stomatal apening?
[Question ID = 3104]

1. E-ATPase [Option 1D = 12410)

I. Ma*-ATPase [Option ID = 12411]

3. Ca®-ATPase [Option ID = 12412]

4. H*-ATPase [Option iD - 12413)

Correct Answer --
% M"-ATPase [Option 1D = 12413)

17} Exposure of DHA to ultravislet light commanly leads to
[Question ID = 3105]

. Formation of thymine dimers [Option 1D = 12414]
. Formation of ademine dimers [Option 1D = 12415)
- Agemine o thrymine corers: = TZaTE]
- Thymire to adenine c [Option 1D = 12417)

.hl.-H—-

Correct Amswer =-
# Formation of thymine dimers

[nphun ib - |24|¢]

18} Movements in a comppund leal of legumingus plants eccur due to ienic changes in

[Question ID = 3106]

1. Petiole [Option I = 12418]

I. Pinnules [Option 1D = 12419)

1. Pulvinus [Opticn 1D = 12430)

4. Bundle sheath cells [Option 1D = 12421)

Correct Answer --
& Pulvinus [Opticn 1D = 12430)

19} Which of the following hormeones is involved in viviparny?

[Cuestion ID = 3107

- Abscizic acid [Option D = 12430]
- Jasmomic acid [Option 1D = 1240°73)
- Cytokinin [Option 1D = 12424)
- Ettrlene [Option 1D = 12435]

.hl.-H—-

Correct Answer -
# Abscisic acid [Option 1D = 12433]

20} In a germinating seed of barley, gibberellin is synthesized in the

[Question ID = 3108]

1. Endosperm [Option B = 11424]

I. Embyronic 2ot [Option 1D = 12427
3. Seed coat [Option B = 12428)

4. Aleurone layer [Option 1D = 12429)

Correct Amswer =-
# Embyronic 2ok [Option D = 12427]

21) The *Acid-Growth Hypothesis® for auxin acthen was proposed by

[Question ID = 3109]
B e R T

I O Rayle and R Cleland [Option iD= 12431)
3. €. Hammer and J_0. Bonmer [Option 1D = 12432) www. FirstRanker.com
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[Question ID = 3110]

1. Methiomine [Option 10 = 13434)
I_ Phenyalamine [Option 1D = 12415]
3. Tyrosine [Option D = 12434)

4. Tryptophan [Option 1D = 12417)

Correct Answer -
# Tryptophan [Option 1D = 12437)

ol FirstRankercom

23) Dwring embryo development in plants, PIN proteins are primarily involved in
[Question ID = 3111]

1. Regulating oofl division [Option 1D = 12438]

I. Begulating ceil elongation [Option D = 12419]

1. Regulation of geme expression [Option 1D = 124480)

4. Establishment of auxin gradient [Option 1D = 12447]

Correct Answer --
#® Extablishment of auxin gradient [Option ID = 12441]

24) Which of the following processes (s MOT carried out mainly by mitochondria?
[Cuesthon ID = 3112]

1. Biosynthesis of cardiolipin [Option ID = 12442)

I_ Biosynthesis of fatty scids [Option 1D = 12441)

3. Catabolism of amino acids [Option 1D = 12444)

4. Generation of reactive coygen species [Option 1D = 12445

Correct Answer -
& Kiosynthesis of fatty acids [Option ID = 12443)

25) Which af the following molecules CANNOT serve as a terminal electron accepbor in bacterial ejectron-transport chain?

[Question ID = 3113]

1. Ohygen [Option 1D = 124484)
1. Sulfate [Option ID = 12447)
3. Fumarate [Option iD= 1

4. Magnesivm [Option 1D = 12449]

Correct Answer -
& Magnesivm [Option 1D = 12449]

26) Which of the following is HOT universally encoded by the mitechondrial DHAZ?

[Question ID = 3114]

1. Small ribosomal BHA [Option 1D = 12450)

I. Large ribosomal BMA [Opeion D - 12451)

1. & cytochrome codase subwnit [Option 1D = 12453)
4. Transfer RMA [Option I = 12451]

Correct Answer --
# Transfer RMA [Option I = 12451)

27) Which of the following cytoskeletal filaments are abundant in an animal cell nucleus?

[Question ID = 3115]
. Microfilaments [Option ID = 12454]
- Microtubules [Option 1D = 12455)
- Lamires [Option 1D = 12456]
. Spectnin filaments [Option 1D = 12457

.hl.-h-—-

Correct Answer ==
# Lamins [Option 1D = 12456]

28) Consider the structure of a sarcamere. Which of its features DOES NOT shorten during skeletal muscle contraction?

[Question ID = 3116]

. The dark band [Opticn 1D = 12458)

The kight band [Option 1D = 12459)

The distance from the M-line to the Z-disc [Option 1D = 12460]
The distance between two comeoutive 2-discs [Option 1D = 12461]

.hl.-H—-
bl

Coicach AR
# The dark band [Option 1D = 12458)

29) Which is the most common polymer present in the plant secondary cell wall but not the primary cell wall?
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4. Starch [Option 1D = 12485]

Correct Amswer =-
® Lignin [Option iD = 12464)

30) Which of the following statement is tree for increasing the resolution of electron microscope?

[Question ID = 3118]
1. Bectromagnetic lenses determine the resolution [Option 1D = 12464]

I. ‘Wavelength of electron beam determines the resolution [Option 1D = 12467)
3. Thickness of specimen determines the resolution [Option ID = 12468)
4. Electron derme region in the specimen determines the resolution  [Option 10 = 12869)

Correct Amswer =-
& ‘Wavelength of sbectron beamn determines the resolution [Option 1D = 12467

31) Ina diploid organism, Law of Segregation results in

[Cuestion ID = 3119)
1. Separation of alleles [Option 1D = 12470
I. Separation of genes on one chromosome [Option 1D = 123471)

3. Segregation of indtriduals [Option 1D = 12347Z)
4. Segregation of male and female gametes [Option 1D = 12473

Comect Answer -
& Separation of alletes [Option 1D = 12470]

32) Plant protoplasts are
[Question ID = 3120]

1. Precursors of amyloplasts [Option iD= 12474)
I. Plant cells without cell walls [{fption 10 = 12475
1. Primitive cells [Option D -
4. Cytoplasm withouwt plazma

rane [Option D = 12477)

Correct Amswer =-
# Plant cells without ool walls [Pption iD= 12475]

33) Which of the following schentisis discovered mobile genelic elements?

[Question ID = 3121]

1. 5 Tonegawa [Option ID = 1247E]
I. % Brenner [Option ID = 1247%)]

1. B. MoChintock [Opticn 1D = 12480)
4. L.B. Buck [Option 1D = 12481)

Correct Answer --
# B MoClintock [Option 1D = 12480)

34) Transferred DMA from Ti-plasmid is maintained in a transgenic plant as

[Cuesthon ID = 3122)
1. &n independent bnear replicon [Option 1D = 12482]

I_ A&n independent circular replicon [Option 1D = 12483]
3. Integrated DH4 in chromasome [Option 1D = 13484)
4. Multiple independent coples of introduced DHA [Option D = 12485]

Correct Answer -
#» Integrated DA in chromosome [Option 1D = 12484)

35) Metabolomics is primarily the study of the
[Question ID = 3123]
1. Entire suite of metabolftes [Option B = 124868]

I_ Metabolism [Option 1D = 12487)
1. Proteins involved in metabolizm [Option B = 12488]

4. Enzymes [Option 1D - 12489)

Correct Amswer =-
® Entire suite of metabolites [Option 1D = 12488]

36) Dideaxynucleotide lacks

[F=NNSTRRT. W TE ¥ L
1. 3'OM [Option ID - 12490]
¥ T'0M [Option 1D = 12491] www_FirstRanker.com

i FhEpetr g Sptr i i

4. ¥'0OH and 2°0H [Option 1D = 12491]
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37) Which of the following is a selectable marker geme?

[Question ID = 3125]
1. Gfp

[Ootion 1D = 12454
¥ luciferase

[Cotion 1D = 12455)
1 qus

[Cotion 1D = 12454
4. npeif

[Cotion 1D = 12457

Correct Answer -
& nptif
[Cotion 1D = 12457

3B) A plant cell contains circular DHA in
[Question ID = 3126]

1. Oneorganelle [Option 1D = 124598)

I Two organelles [Option iD= 12459)

3. Three organciles [Option 1D = 12500]

4. Four organelles [Option 1D = 12501]

Comect Answer -
# Two organcdies [Option 1D = 124599)

www.FirstRanker.com

39) cDMA is synthesized by
[Question ID = 3127]

1. BHA polymerase | [Option 1D ¢ 12502]

I_ BMA polymerase || [Option ID|= 12501)

3. EMA polymerase il [Option I = 12504)
4. Beverse transcriptase | Il = 12505)

Correct Answer -

& Eeverse transcriptase [Option 1D = 12505)

40) Morthern hybridization & related to
[Question ID = 3128]

1. Detection of DHA [Option 1D = 12506)

I. Detection of BMA [Option 1D = 12507)

1. Detection of protein [Option iD= 12508]

4. Detection of DMA and RMA [Opeion 1D = 12509)

Correct Amswer =-
#® [Detection of AMA [Option ID = 12507)

41} Introns are present at the level of
[Question ID = 3129]

1. Genomic DA [Option 1D = 12510)

2. cOMA [Option ID = 12511]

3. mRMA [Option I = 12512]

4. Protein [Option 1D = 12511]

Correct Answer -
& Genomic DA [Option 1D = 12510)

42) Which af the following scientists was given Nobel Prize for discovery of restriction enzymes?

[Question ID = 3130]

1. B. Berg [Option Ib - 12514]
I A Kig [Option D = 12515)
3. W_arber [Option iD = 12514)

4. F. Sanger [Option D = 12517]

Correct Answer -

& W. Arber [Option 10 = 1218]

M.Firnﬂ}anknr.cum

¥
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I, Dioscoren deltoldea

[Option 1D - 12519]

3. Taxus brevifolia

[Option 1D = 12520]
4. Afropa beliadonna

[Option ib = 12531]
Correct Answer --
& Toxus brevifolia

[Opticn iD - 12520]

4] ‘Which of the following plants is a commercial source af an artificial sweetener?

[Question ID = 3132)

1. Stevio rebaudiong

[Option B = 12533]
I Atropa belladonna

[Ootion 1D = 1352%)
1. Popover sommiferg

[Option B = 125324]
4. Cinchoma officimolis

[Option 1D = 12525]

Correct Answer -
& Ghevig reboudiona

[Option 1D = 12522]

45) Which of the following biological systems is a predominant source of the 'Luciferase’ enzyme]

[Question ID = 3133]
1. Photinus pyrolis

[Cotion 1D = 12524
I. Drosophilo melanogaster

[Cotion 1D = 13527
3. Fsciwerichio cold

[Option il = 1253E]
4. Soccharomypces cerevisior

[Option 1D = 12529]

Correct Answer --
#& Bhotinus pyralis

[Option ID = 12524]

46} Which of the following biological species is the predominant source of "Tag polymerase enzyme”?

[Question ID = 3134]

1. Thermus opuatious
[Ootion 1D = 12530

I, Thermus orbranikiarsii

[Option B = 12531]
1. Thermus fgriterroe

[Option D = 12532]
4. Thermus tengohongensis

[Opticn 1D - 12511]

Correct Answer -

& Thermus aguaticus

[Opticn 1D - 12510]

www.FirstRanker.com
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4. HL.G. Khorana [Option 1D = 12537)

Correct Answer --
® K. sullis [Option 1D = 12514

48) Which of the following scientists is credited for the *Green Revolution™?

[Question ID = 3136]

1. M. Borlaug [Opeion D = 12538)

I. G. Haberiandt [Option ID = 13539]
1. G. Mendel [Option 1D = 12540]

4. C. Darwin [Option 10 = 12541]

Correct Answer --
& M. Borlsug [Option 1D = 12538

49) IR-8 is a popular variety of

[Cuestion ID = 3137

- ‘Wheat [Option I = 12542
- Rice [Option iD= 12543)
- Maize [Option 10 = 13544)
- Cotton [Option iB = 12545]

.hl.-H—-

Correct Answer --
# Hice [Option iD= 1254%]

50) The golden colour of ‘Golden rice’ is due to excess levels of

[Question ID = 3138]
1. Xanmthophyil [Option 1D = 12545)
z. Cargtene [Option 1D = 12547

1. Phycoerythrin [Option ID = 14548)
4. Bilirubin [Option 1D = 12589)

Correct Answer -
# Carotene [Option iD = 12547)

51) RFLP analysis is a technique that
[Question ID = 3139]

1. Uses hybridization to detect specific DMA restriction fragments in genomics DA [Option 1D = 12550]
I. Mraswes the tramsfer frequency of genes during conjugation [Option 1D = 12551)

1. kb used to detect gemetic varistion at the protedn level [Option 1D = 1355)

4. ks used to amplify genes for producing wseful products [Option D = 12553]

Correct Amswer =-
# Uses hybridization to detect spectfic DMA restriction fragments in genomics DM [Option 1D = 12550]

52) Plasmid cloning vectbors
[Question 1D = 3140]
1. Can generally accommodate larger inseris than phage vectors [Option 1D = 12554)

I_ Can replicate within bacteria [Option D = 12555)
3. Can accommodate inserts of over 100 kilobases [Option 1D = 12954)

4. Incude centromeres to allow propagation in yeast. [Option ID = 12557)

Comect Answer -
» Can replicate within bacteria [Option B = 12555]

53) On an average, how many fragments would a restriction enzyme which recognizes a specific 4 base sequence in DHA

be expected to cleave a double-stranded bacteriophage with a genome size of 5,000 bp inta ?
[Question ID = 3141]

1. About ¥ [Option 10 = 12558]

¥. About 4 [Option 10 = 12559]

3. Aboet Wi [Option B - 12560]

4. About 50 [Option B - 12561]

Correct Answer -
% About 20 [Option D = 12560]

TR EEP TS s

[ﬂ_usthun ID = 3142]
- Identify BENA polymerase binding sites [Option ID = 11m FirstRanker.com

ine WETICS AIT EXp F] age = TI56]]
] Identify chromosome regions associated with & guantitsties trast [Option 1D = 12564)
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55) Double fertilization involves
[Question ID = 3143]

1. Fertilization of the egg by two male gametes [Option 1D = 12564)
I_ Fertilization of two eggs in the same embryo sac by o sperms browght by one pollen tube [Option 1D = 125&7T)

3. Fertilization of the egg and the cemtral oell by two speyms brought by different polien tubes [Option 1D = 12568]
4. Fertilization of the egg and the central cell by two sperms brought by the same pollen tube [Option 1D = 12569)

Correct Answer -
# Fertilization of the egg and the cemtral cell by two sperms brought by the same pollen tube [Option 10 = 132569)

56) At which stage of development the male gametophyte i surrounded by a callose wall?

[Question ID = 3144]

1. Mature 3-celled stage [Option 1D = 12570]
¥ Bi-celled stage [Option 1D = 12571]

3. Single cell stage [Option ib = 12572)

4. Pollen Mother Cedl stage [Option 1D = 12571]

Correct Answer -
# Pollen Mother Cell stage [Option ID = 12573

57) Which ane of the following enzymes is substrate inducible?

[Question ID = 3145]

1. Triose phosphate isomerase [Option 1D = 12574)

I. Glyceraldetryde phosphate defrydrogenase [Option ID = 12575)
1. Mitrate reductsse [Option I = 12578)

4. Hexose isomerase. [Option iD= 12577)

Correct Answer --
® Mitrate reductase [Option B ¢ 12578)

58) The Lernma and Paled in cereal flowers are
[Cuestion ID = 3146]
1. Modified sepals [Option 1D = | 257H)

I Fused sepals and petals [Option 1D = 12579]
3. Modified glumes [Option 1D = 12580)

4. Moctaries [Option 1D = 12581)

Correct Answer --
% Modified glumes [Option 1D = 12580)

59) O=ytocin is a
[Question ID = 3147

1. Peptidal hormone [Option i = 12582)

2. Steroidal hormone [Option 1D = 12581]

3. Transcriptional factor [Option 1D = 135&4)

4. Hormonal receptor [Option D = 12585)

Correct Answer -
&% Peptidal hormaone [Option I = 12582)

&) Which of the following is a zinc containing protein?

[Question ID = 3148]

1. Hitrogenase [Option 1D = 12588)

¥ Calmodutin [Option i = 12587]

1. Mitrate reductase [Option I = 12588)

4. Aloohol defvdrogenase [Option 1D = 12589)

Correct Amswer =-
# Aloohol defrydrogenase [Option 1D = 1258%)]

61) Which of the following is a metalloprotein?

[Question ID = 314%]

1. Mitrogenase [Option iD = 12594%0]

I Hexokinase [Option 1D = 12591)

3. Triose phosphate isomerase [Option 1D = 12592)

e marimeEnn suediind e - tedda
+

www.FirstRanker.com
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3. CHy [Option (D = 12554]

4. CHy [Option 1D = 12547)

Correct Answer -
& CHy [Option 1D = 135%4)

63) i photosynthesis is carried out in presence of C0y canrying labelied axygen, which molecules produced would not carry
radiolabel?

[Question ID = 3151]

1. Y-phospio giyceraldetypde
[Option B = 1255E]

I. Bibulose 5 phosphate

[Ootion 1D = 12559
3. Sedobeptuloss

[Option ID = 1ha00)
4. Owygen
[Oation 1D = 12801]

Correct Answer -
» Owygen
[Ootion 1D = 12401)

&4} Which enzyme is invelved in dissipation of energy in MADH as heat in plant mitochondria?
[Question ID = 3152]

1. Glycolate oxidase [Option Ik 12602)

I. Altermative owidase [Option I = 12600]

1. Succinate dehydrogenase | i = 12804]

4. Cytochrome cocdase [Option |0 = 123605)

Correct Amswer =-
& Altermative oxidase [Option i = 12600]

65) When intact mitechondria are disrupted by treatment with detergent, the resulting membrane fragments can still
catalyze electron transfer from succinate or MADH to O,, without ATP production. What is the reason for this?
[Question ID = 3153]

1. Inhibition of ATF symthase [Option 1D = 1260&)

2. Lack of ADP [Option ID - 12407)

1. Lack of proton gradient [Opticn 1D = 12608]

4. Imhibition of cytochnome oodase by the detergent [Option 1D = 12609]

Correct Answer =-
# Lack of proton gradient [Option 1D = 12608]

66) Chemical uncoupler 2 4-dinitrophenal [DMP) uncouples electron transport to ATP synthesis by

[Question ID = 3154]
1.

Creating holes in mitochondrial membrane

[Option 1D = 12&10)
I_ Inhibiting ATP synthase

[Option iD= 13&11]
1. inhibiting electron transport

[Ootion 1D = 11&1X)
4. Murupting proton gradient

[Opticn 1D - 12611]

Correct Answer -
# [Disnupting proton gradient

[Opticn iD - 12611]

62} Thylakoid membeanes ol chlaroplasts maioly contain

[Question ID = 3155]
1. Phospholipids [Option D = 12414] www . FirstRanker.com

3. Sphingolipids [Option 1D = 12é61&)
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68) On equal mass basis, complete oxidation of which of the following to 00y and HiD would produce meore energy?
[Question ID = 3156]

1. Diacylghycerol [Option 10 = 12618]
¥. Phosphatidic acid [Option 10 = 12619]

3. Tracyighycerol [Option D = 12620]
4. Search [Option 1D = 12621]

Correct Answer -
# Tracylglycerol [Option D = 126:20]

§9) The enzyme acetyl-CoA carboxylase contains which of the following cofactors?

[Question ID = 3157

1. Thymine pyrophosphate [Option 1D = 1263T)
I_ Molybdenum [Gption 1D = 134623

3. Biotin [Option 1D = 12834

4. Tinc [Option 1D = 13625)

Correct Answer -
# Biotin [Option 10 = 12834

70) Which two cell arganelles contain maximum amount of cellular liphd?
[Question ID = 3158]

1. Mitochondria and chioroplasts [Option 1D = 124625]
I. mitochondria and ER [Option 1D = 13437

1. Waruoles and chloroplasts [Opticn 1D = 1362H)

4. Chioroplasts and ER [Option 1D = 12&29)

Correct Answer --
#® Chioroplasts and ER [Option P = 12839)

. using glutamate and NHy", catalysed by glutamine synthetase is an exgmple of

T1) Synthesis of glutami
[Cuestion ID = 3159)

1. Transamination [Option 1D = [12630])

I Ohodative amiretion [Option iD= 12631]
3. Beductive amination [Option I = T2612)
4. Demitrification [Option ID = 12631]

Comect Answer -
& Reductive amination [Option 1D = 12632]

72) Which enzyme is the target of common herbicide Basta?

[Question ID = 3160]

1. EFSP gynthase [Option 10 = 12634)

I Glutamate dehydrogenase [Option D = 12615]
1. Glutamire synthetase [Option 1D = 12854)
4

- Acetohydroxy acid synthase [Option 1D = 12437F]

Correct Answer =-
# Glutamine synthetase [Option 1D = 126348)

73) Which of the following gene(s) invalved in symbiotic nitrogen fixation in leguminous plants is of plant origin?

[Question ID = 3161]

1. nod D

[Option iD= 1ha1E)

I mol

[Option 1D = 124345
i fi=l

[Option ID = 140
4. EmOD

[Option 1D = 12&41]

Correct Answer --
i

[Option 1D = 12641] www.FirstRanker.com

74) In a plant transformation experiment, inclusion of antibiotic resistance gene expression cassette within T-DHA of binary
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[Ootion 1D = 12&4F)
I. &n efficient transfer of T-DMA into plant genome

[Cotion 1D = 11541
3. Selection of putative trarsformants

[Option iD= 1)
4. Protection of iransformants from becterial infection

[Option ID = 12645]

Correct Answer --
& Selection of putative traraformants
[Option 1D = 7264

T75) Starch is a polymer of glucose with linkages of
[Question ID = 3163]

1. a (1-8]), B {1-4] [Option D = 128486)

. a(1-4], & {1-6) [Option 10 = 12647]

3. a (1-4), o(1-&) [Dpticn ID = 12648

A B (1-4), B (1-&) [Option 1D = 12645

Correct Answer -
® al-4), a(1-&) [Opticn ID = 12648)

76) A gene that has eriginated through duplication within a species and has acquired new function is known as
[Question ID = 3164]

1. Paralogous [Option 1D = 13&50)
i. Orthologous [Option 1D = 126p1]
1. Meterologous [Option iD= 1

4. Meclogous [Option 1D = 12659

Correct Answer --

#* Paralogous [Option iD= 1

771 A weast artificial chromEome TTE Tollwing except

[Question ID = 3165]

1. ARS [Option ID = 12454]

I. Telomeres [Option ID = 12855]
1. Centromere [Option 1D = 12854)
4. Satellite DHA [Option 1D = 12657)

Correct Answer -
% Sacellie DMA [Option 1D - 12657]

TB) Boelectric point of a probein is the pH at which its overall charge is
[Question ID = 3166]
1. 0 [Option 10 = 12658]
¥. 2 [Option 1D = 12659]
3. -2 [Option 1D = 12660]
4. 1 [Dpticn iD= 12681]

Correct Answer --
% 0 [Option ID = 1H858])

79) Deamination of adenine results in the formation of

[Question ID = 3167

- Hypooantiine [Option 1D = 12663)
- Uradil [Option 1D = 12863)

. Cytosine [Option D = 1hibhd)

- Guanine [Opticn 1D = 12665)

T

Correct Answer -

& Mypooantivine [Option ID = 12843]

80) Which of the following is a text-based database search boal?

[F=WRSTRAT. W T E
1. BLAST [Option ID - 12646]
¥, ENTRED [Option I - 12647] www_FirstRanker.com

4. BASMOL [Option ID = 12669]
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81) The 'PDB" file format can be used to store
[Question ID = 316%]
- DA sequence only [Option D = 12670
- Protein sequence only [Dption 1D = 12&71)
. Both DHA and protein sequences [Option 1D = 128T2)
- Protein stnscture data [Option 1D = 12673

.hl.-H—-

Correct Amswer =-
# Protein strscture data [Option 1D = 12673)

82) Which of the following has the smallest genorme ?
[Question ID = 3170]

1. Humans [Option 1D = 12674]

I Wheat [Option i) = 12675]

1. Arabidopsis [Option 1D = 12674

4. Tomato [Option ID = 12677]

Correct Answer --
# Arabidopsis [Option 1D = 12676]

83) Which of the following is a database dedicated to only a particular organism?

[Cuestion ID = 3171

1. GenBank [Option I = 1247E]
I Umiprot [Opticn 1D = 13679)

3. ‘WormBase [Option 1D = 12680)
4. CATH [Option 1D = 12681]

Correct Answer --
® ‘WormbBase [Option 1D = 1

84) Who is the first ‘Chief of Defence Stafl’ of India?

[Question ID = 3172]
1. Gen. Bipin Rawat [Option 1D § 12683

I_ Gen. Manoj Mukund K [Option B = 12683)
3. Gen. Dalbir Singh Sukag [Optpon D = 1lbﬁ-l]

4. Gen. Bikram Singh [Option

Correct Answer -
® Gen. Bipin Rawat [Option 1D = 12683]

85) The Ultraviolet radiations in the stratesphere are absorbed by
[Question ID = 3173]
50, [Option I = 12686]

I Cooygen [Option ID = 12GET)
1. Crone [Option 1D = 1268E)

4. &rgon [Option 1D = 12685)

Correct Answer --
&% (zpne [Option ID = 12588)

B6) Which Indian women hockey player is the recipient of “Padma Shri' award (2020)7

[Question ID = 3174]
. Bani Rampal [Option 1D = 126590
. Mayneet Kzur [Option ID = 12691]
. Harmanpreet Kaur [Option 1D = 12693)
. Smriti Mandhana [Option ID = 12651]

.hl.-h-—-

Correct Answer -
& Rani Rampal [Option 1D = 126590]

87) Which af the following countries had established a world record in the year 2018 by launching the maximum number of
satellites (104) in a single attemgpt?

[Question ID = 3175]

1. US4 [Option 1D = 12654]

I Russia [Option 1D = 12695)

3. india [Option 1D = 12&%4)

4_China [Oction 1D - 12607]

Correct Answer o www.FirstRanker.com
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1. acetolactate synthetase [Option 1D = 12700]
4. M protein [Option 1D = 12701)

Correct Answer -
& EPLP synthose [Option B = 12698]

89) ‘Cry proteins’ are useful in conferring resistance to plants against

[Question ID = 3177

1. Wiruzes [Option 1D = 12702]

I Mematodes [Option 1D = 12703)
1. Insects [Oiption 1D = 127704)

4. Bacteria [Option ID = 1XH05)

Correct Answer --
& Insects [Option 1D = 127704)

90) Mucleosome is made of

[Question ID = 3178]
. Mistones only [Option B = 12706]
- Hitstones and De& [Option 1D = 1370F)
- b4 only [Option 1D = 12708]
. Mistones and RMA [Option 1D = 12709]

.hl.-H—-

Correct Answer -
& Mistones and DMA [I'.'I|:-1:u:|r|.ID II]'[I']']

91} The '‘gene-for-gene concept’ related to the genetics of plant-pathogen interaction, fermulated by H. Flor, was

developed using
[Question ID = 3179]

1. Potato [Option 1D = 12710]
I Maize [Option 1D = 13F11)
3. Flax [Option 1D = 1271Z)
4. ‘Wheat [Option 1D = 1X713]

Correct Answer -
® Flax [Option ID = 1271Z)

92) Which of the following is a non-protein aming acid?
[Question ID = 3180]
- Lysine [Option 1D = 12714)

1

¥, Morphine [Option iD= 12715]
1. Putrescine [Option ID = 12718)
4

- Canavandine [Option 1D = 12717)

Correct Answer --
# Canavanine [Option 1D = 12717]

93} The polyembryony commonly accurs in
[Question ID = 3181]

1. Tomato [Option ID - 12718]

2. Potato [Option 0 = 12719]

3. Orange [Option 1D = 12720]

4. Turmeric [Option 1D = 12721)

Correct Answer -
& Orange [Option 1D = 12720]

94} The nonvascular plants whose gametophytes are larger than their sporophytes are

[Question ID = 3182 )
- Algae [Option 1D = 12723)
- Fungi [Option 1D = 12723)
- Bryopiytes [Option 1D = 12724)
- Pteridophytes [Option 1B = 12775]

.hl.-H—-

Correct Answer -
& Bryopiytes [Option 1D = 12724)

95) Coconut water and the edible part of the cn:u:mutﬂ fit to
[Question ID = 3183] r.com

1. Embrya [Option 1D = 12724
F. Mesoca tion 1D = 1XTET



FirstRanker.com
https://firstranker.com/
https://firstranker.com/

» Fi#stRanker.com

JEirstranker's choice
& Endosperm [Option B = 12729]

www.FirstRanker.com www.FirstRanker.com

96) Sunflower belongs ta the follvwing family:
[Question ID = 3184]

- Cruciferse [Option ID = 12730)

- Asteraceae [Option 10 = 13731)

. Litiaccae [Option I = 12732]

. Fabaceae [Opticn ID - 12713)

o

Correct Answer -
# Asteraceae [Option 1D = 12731)

97) Which of the following is HOT a common second messenger in cell signaling?
[Question ID = 3185]

1. Ca® [Dption ID = 12734]

I. Cyclic adenosine monophosphate [Option iD= 12715

3. Tryptophan [Option 1D - 12734)

4. Diacylghycerol [Option B = 12737)

Correct Answer --
# Tryptophan [Option 1D = 12738)

98) What would you need to know to determine quantum yield of photosynthesis acourately?
[Question ID = 3186]

1. smount of €Oy fiaed and O released [Option 1D = 1271E]

I. amount of starch symithesized [Option 1D = 12719

3. Amount of 3-phosphoglycerate yynthesined [Option 1D = 12740

4. Amcat of Op evolved and light abscrbed [Option 1D = 12741]

Correct Answer -
® Amount of O evolved and light absorbed [Option 1D = 12741]

99) Which af the following nucleic acids is the MOST stable?
[Question ID = 3I187)

1. DHA [Option 1D = 12742]
. mRMA [Option 10 = 12743]
3. rEMA [Option 1D = 12744]
4. tEMA [Option iD = 12745]

Correct Answer -
® [OHaA [Option ID = 12742)

100} A monsense mutation in the reading frame within the coding region of a gene is expected to result in
[Question ID = 3188]
1. Decreased transcription [Option 1D = 12746)
I. Premature trarslation teremination [Option 1D = 12747)
1. Bibosomal frameshift [Option B = 12748)
4. Formation of a fusion protein [Option 1D = 12749]

Correct Amswer =-
% Premature trarslation termination [Option 1D = 12747)
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